
Accessory list

ABasket

Slides

Door connector 
front plate

Door connector 
rear plate

M4*8

M4*6

Plastic bottom 
panel

ST4*16

ST4*16

Plastic dowel

Space divider

Rail connector

M4*8

1 pcs

1 setB

No.Item Qty.

Notes
The cabinet width is subject to product,500mm
depth, 650mm≤height, cabinet thickness 
16-18mm

2 pcs

2 pcs

4 pcs

2 pcs

36
0

40

2 pcs

8 pcs

4 pcs

4 pcs

W2 W1

Cabinet width W1 W2
150mm 64

114
43
43200mm

6 pcs

2 pcs

4 pcs

C

D

E

F

G

H

I

J

L

K

M

1.  Drill holes in accordance with the instruction, 
insert (J) into the holes and screw on the first hole 
of the rail with (H)

5.  Use （F） connect the door connector 
front & rear plates, so that fix the door panel on 
the basket

3. Fix the (D) on the basket with (E)

4. Fix the (C) on the door panel with (I) 6. Set (G) in the basket and set (K) on the basket;

I I C

I I C

Side slim pull-out - Right side

B
H J

36
0 57

57

75

37

37
233

2. Set the basket on the rails, make sure (L) 
lock the rail, and rail tail lock the basket

E
D

Front/Back

F

I

G

G

K



E
D

Accessory list
Item

ABasket

Slides

Door connector 
front plate

Door connector 
rear plate

M4*8

M4*6

Plastic bottom 
panel

ST4*16

ST4*16

Plastic dowel

Space divider

Rail connector

M4*8

1 pcs

1 setB

No. Qty.

Notes
The cabinet width is subject to product,500mm
depth, 650mm≤height, cabinet thickness 
16-18mm

2 pcs

2 pcs

4 pcs

2 pcs

36
0

40

2 pcs

8 pcs

4 pcs

4 pcs

W2W1

Cabinet width W1 W2
150mm 64

114
43
43200mm

6 pcs

2 pcs

4 pcs

C

D

E

F

G

H

I

J

L

K

M

B
HJ

36
057

57

75

37
37

233

1.  Drill holes in accordance with the instruction, 
insert (J) into the holes and screw on the first hole 
of the rail with (H)

5.  Use (F) connect the door connector 
front & rear plates, so that fix the door panel on 
the basket

3. Fix the (D) on the basket with (E)

4. Fix the (C) on the door panel with (I) 6. Set (G) in the basket and set (K) on the basket;

II
C

F

G

G

K

I

II
C

Front/Back

2. Set the basket on the rails, make sure (L) 
lock the rail, and rail tail lock the basket

Side slim pull-out - Left side


